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gFjp – I 

midj;J tpdhf;fSf;Fk; tpilaspf;fTk;                                                                          14 x 1 = 14   

tpdh vz; ghlk; tpilj;njupT tpil kjpg;ngz; 

1 gapw;rp. 1.6 – 4 (M) 2                                           1 

2 Creative 1st Chapter (,) 2 − 4𝑥     1 

3 gapw;rp. 2.10 –7 (<) 11 1 

4 gapw;rp.  2.10 –13 (M)  1

27
     1 

5 gapw;rp. 3.20 – 2 (m)  𝑥 = 1, 𝑦 = 2, 𝑧 = 3                      1 

6 Creative 3rd chapter (,) |𝑎𝑥 + 𝑏| 1 

7 gapw;rp.  4.5 – 3 (<)  5√2 nr.kP    1 

8 gapw;rp. 4.5 – 10 (m)  90° 1 

9 gapw;rp. 5.5 – 4 (,) 9 1 

10 gapw;rp.  5.5 – 3 (M)   𝑌 –mr;Rf;F ,iz                      1 

11 gapw;rp.  6.5 – 8 (,) 2 1 

12 Creative – 6th Chapter (m) fpisNdh kPl;lh; 1 

13 gapw;rp. 7.5 – 2 (m) 4𝜋𝑟2r.m      1 

14 gapw;rp. 8.5 – 11 (M)  7

10
  1 

 
 
 

gFjp – II 

vitNaDk; 10 tpdhf;fSf;F tpilasp. tpdh vz; 28 fl;lha tpdh                           10 x 2 = 20   

tpdh 
vz; 

ghlk; 
 

tpil kjpg;ngz; 

15 
gapw;rp.  1.1 

–1 (i) 

𝐴 × 𝐵 = {(2,1), (2, −4), (−2,1),   (−2, −4), (3,1), (3, −4)}  

𝐵 × 𝐴  = {(1,2), (1, −2), (1,3), (−4,2), (−4, −2), (−4,3)} 

1 

1 

16 v.fh.1.22 
 𝑓 ∘ 𝑓(𝑘) = 𝑓(𝑓(𝑘)) = 4𝑘 − 3 

  𝑘 = 2 

1 

1 

17 
gapw;rp.  2.2 

– 4 

13824 = 29 × 33   

  𝑎 = 9, 𝑏 = 3 

1 

1 

18 v.fh.2.26 

𝑎 = 3, 𝑑 = 3, 𝑙 = 111, 

 𝑛 = (
𝑙−𝑎

𝑑
) + 1 

𝑛 = 37 

1 

1 

19 
gapw;rp.  

3.4 –2   (iii) 

𝑝(𝑥)

𝑞(𝑥)
=

𝑥2+6𝑥+8

𝑥2+𝑥−2
=

𝑥+4

𝑥−1
    

 tpyf;fg;gl;l kjpg;G fhz  𝑞(𝑥) = 0   

𝑥 = 1, −2                

1 

1 
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20 v.fh.4.8 
 
(∆ 𝐴𝐵𝐶)d; gug;G 

(∆ 𝐷𝐸𝐹)d; gug;G 
=  

𝐵𝐶2

𝐸𝐹2 

(∆ 𝐷𝐸𝐹)d; gug;G =  96 r.nr.kP 

1 

1 

21 
 

Njw;wk; 

                  

$w;W : 𝐴𝐵𝐶 vd;gJ xU Kf;Nfhzk; vd;f. 

gf;fq;fs;  𝐵𝐶, 𝐶𝐴,  kw;Wk; 𝐴𝐵-apy; cs;s 

Gs;spfs; KiwNa 𝐷, 𝐸 kw;Wk; 𝐹 vd;f. 

Kf;Nfhzj;jpd; gf;fq;fs; xNu jpiriag; nghUj;J> 𝐴𝐷,

𝐵𝐸, 𝐶𝐹 vd;w rPtpad;fs; xUq;fpire;Js;sJ vdpy;> 
𝐵𝐷

𝐷𝐶
×

𝐶𝐸

𝐸𝐴
×

𝐴𝐹

𝐹𝐵
= 1. xt;nthU tpfpjj;jpidAk; jiyfPopahf 

khw;wpdhYk; Nkw;$wpaJ cz;ikNa. Vnddpy; 1-apd; 
jiyfPop xd;W MFk;. 

 

 

 

2  

22 

myF 
gapw;rp.:  
ghlk; -5 
tpdh vz;: 

5 

 𝐴𝐵 d; rha;T =
0+1

4+2
=

1

6
                    𝐶𝐷 d; rha;T =

3−2

3+3
=

1

6
 

 𝐴𝐷 d; rha;T=
2+1

−3+2
=

3

−1
= −3      𝐵𝐶 d; rha;T =

0−3

4−3
= −

3

1
= −3 

 AB & CD Mfpait ,iz>  AD & BC Mfpait ,iz 
 ABCD xU ,izfukhFk;. 

 

1 

 

1  

23 
Creative 5th 

Chapter 

𝑚1= 
3

5
 ,  𝑚2 = 

−5

3
  

 𝑚1  × 𝑚2  = 
3

5
 ×  

−5

3
  = −1 

      ∴  ,U Neh;f;NfhLfSk; xd;Wf;nfhd;W nrq;Fj;J.   

 

1 

1 

24 v.fh.6.19 

 

 tan 30∘ =
ℎ

48
   

 

 

 

 

NfhGuj;jpd; cauk; = 16√3  kP    

 

1 

 

 

 
 

 

 

 

 

 

 

1 

25 
gapw;rp. 7.1 

– 1 

    cUisapd; tisgug;G  = 2𝜋𝑟ℎ r.m  

     𝑟 = 25 nr.kP,  ℎ = 35 nr.kP  

1 

1 

26 
Creative 7th 

chapter 

mbg;gf;fg;gug;G = 𝜋𝑟2 = 1386  r.kP 

miuf;Nfhsj;jpd; Gwg;gug;G = 3𝜋𝑟2  

miuf;Nfhsj;jpd; Gwg;gug;G = 4158 r.kP 

1 

 

1 

27 
gapw;rp. 8.1 

– 7 
 𝜎 = √

𝑛2−1

12
;   𝑛 = 21, 

 𝜎 = 6.05 

1 

1 

28 
gapw;rp. 3.11 

– 2 (i) 

 𝑎 = 2, 𝑏 = −5, 𝑐 = 2 , 

 𝑥 =
−𝑏± √𝑏2−4𝑎𝑐

2𝑎
 ,   

 𝑥 = {2,
1

2
} 

1 

 
 

1 
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gFjp – III  

vitNaDk; 10 tpdhf;fSf;F tpilasp. tpdh vz; 42 fl;lha tpdh                           10 x 5 = 50   

tpdh 
vz; 

ghlk; 
 

tpil kjpg;ngz; 

29 gapw;rp. 
1.4 - 

10  

(ii) (iv) 

   𝑓(𝑥) = {

6𝑥 + 1;

5𝑥2 − 1;
3𝑥 − 4;

 
−5 ≤ 𝑥 < 2
 2 ≤ 𝑥 < 6
 6 ≤ 𝑥 ≤ 9

   
;    𝑥 = −5, −4, −3, −2, −1,0,1

;   𝑥 = 2, 3,4,5 
;   𝑥 = 6,7,8,9

 

 (i)  𝑓(7) − 𝑓(1),  𝑥 = 7 ⇒ 𝑓(𝑥) = 3𝑥 − 4 = 17  

                                     𝑥 = 1 ⇒ 𝑓(𝑥) = 6𝑥 + 1  = 7  

                ∴ 𝑓(7) − 𝑓(1) = 17 − 7 = 10  

(ii) 
2𝑓(−2)−𝑓(6)

𝑓(4)+𝑓(−2)
,  𝑥 = −2, 𝑓(𝑥) = 6𝑥 + 1 = −11 

                             𝑥 = 6, 𝑓(𝑥) = 3𝑥 − 4 = 14 

                            𝑥 = 4,  𝑓(𝑥) = 5𝑥2 − 1 = 79  

       
2𝑓(−2)−𝑓(6)

𝑓(4)+𝑓(−2)
=

2(−11)−14

79+(−11)
 =

−22−14

79−11
=

−36

68
= −

9

17
   

 

1 

 

 

 

2 

 

 

 

2 

30 v.fh. 
2.51 

5 + 55 + 555 + ⋯ 𝑛 cWg;Gfs; tiu  = 5(1 + 11 + ⋯ 𝑛 cWg;Gfs; tiu) 

                                                                       =
5

9
(9 + 99 + ⋯ 𝑛 cWg;Gfs; tiu) 

                                                            𝑆𝑛 = 𝑎 [
𝑟𝑛−1

𝑟−1
] 

                                                                  𝑆𝑛 =
50(10𝑛−1)

81
−

5𝑛

9
   

1 

1 

1 

2 

31 gapw;rp. 
2.9 – 6 

     12 + 22 + ⋯ + 𝑛2 =
𝑛(𝑛+1)(2𝑛+1)

6
 

Njitahd gug;G = 102 + 112 + ⋯ + 242  

                                 = (12 + 22 + ⋯ + 242) −(12 + 22 + 32 + ⋯ + 92) 

Njitahd gug;G = 4615 r.nr.kP 

1 

1 

1 

2 

32 gapw;rp. 

3.8  

– 3 (i)    

                    6         −5     + 3 

             6     36   − 60  + 61 − 𝑚  + 𝑛 

                    36  

                    (−) 

   12 − 5             − 60  + 61 

                                −60  + 25 

                                 (+)           (−)  

12 − 10 + 3                            36  − 𝑚  + 𝑛 

                                              36   −30     9 

                                                                   (−)       (+)       (−) 

                                                              0 

nfhLf;fg;gl;l gy;YWg;Gf;Nfhit> KO tu;f;fk; vd;gjhy; 
 −𝑚 + 30 = 0 ⇒  −𝑚 = −30 ⇒    𝒎 = 𝟑𝟎  

      𝑛 − 9 = 0 ⇒     𝒏 = 𝟗 

 

1 

 

 

 

1 

 

 

1 

 

 

 

 

1 

 

1 
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33 v.fh. 
3.44 

𝑎 = 1, 𝑏 = 7, 𝑐 = 10      

𝛼 + 𝛽 = −
𝑏

𝑎
= −7,     𝛼𝛽 =

𝑐

𝑎
= 10 

   (i) 𝛼2 + 𝛽2 = 29      

  (ii)  
𝛼

𝛽
+

𝛽

𝛼
=

29

10
       

  (iii)  
𝛼2

𝛽
+

𝛽2

𝛼
=

−133

10
 

1 

1 

1 

1 

1 

34 Njw;wk; Nfhz ,Urkntl;b Njw;wk; 
$w;W : xU Kf;Nfhzj;jpd; xU 
Nfhzj;jpd; cl;Gw ,U rkntl;bahdJ 
mf;Nfhzj;jpd; vjpu; gf;fj;ij cl;Gwkhf 
mf;Nfhzj;jpid mlf;fpa gf;fq;fspd; 
tpfpjj;jpy; gpupf;Fk;.   
ep&gzk;: 
nfhLf;fg;gl;lit : ∆𝐴𝐵𝐶-apy; 𝐴𝐷 
ahdJ ∠𝐴-apd; cl;Gw ,Urkntl;b 

ep&gpf;f: 
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
 

mikg;G: 𝐴𝐵-f;F ,izahf 𝐶 topahf xU ,izf;NfhL 
tiuf. 𝐴𝐷-apd; ePl;rpahdJ 𝐶 topahf nry;Yk; Nfhl;bid  

𝐸-apy; re;jpf;fpwJ. 
 

v
z; 

$w;W fhuzk; 

1.  ∠𝐴𝐸𝐶 = ∠𝐵𝐴𝐸 
= ∠1 

xU FWf;Fntl;bahdJ ,uz;L 
,izNfhLfis ntl;Ltjhy; Vw;gLk; 
xd;Wtpl;l Nfhzq;fs; rkk;. 

2. ∆𝐴𝐶𝐸 vd;gJ ,U 
rkgf;f 
Kf;Nfhzk; 
 𝐴𝐶 = 𝐶𝐸 …… (1) 

 ∆𝐴𝐶𝐸-apy;  ∠𝐶𝐴𝐸 = ∆𝐶𝐸𝐴 

3.  ∆𝐴𝐵𝐷 ∽ ∆𝐸𝐶𝐷 

 
𝐴𝐵

𝐶𝐸
=

𝐵𝐷

𝐶𝐷
 

 𝐴𝐴 tpjpKiwg;gb 

4.  
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
  (1) -ypUe;J>  𝐴𝐶 = 𝐶𝐸  

Njw;wk; ep&gpf;fg;gl;lJ 
 

 

 

2 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

 

1 

 

35 gapw;rp. 
4.3 – 8 

  ∆𝐴𝐵𝐶y;>  𝐴𝐶2 = 𝐴𝐵2 + 𝐵𝐶2……….(1) 

  ∆𝐴𝐵𝐷 y;>   𝐴𝐷2 = 𝐴𝐵2 + 𝐵𝐷2……….(2) 

 ∆𝐴𝐵𝐸 y;> 𝐴𝐸2 = 𝐴𝐵2 + 𝐵𝐸2………..(3) 

3𝐴𝐶2 + 5𝐴𝐷2 = 8𝐴𝐸2 

1 

1 

1 

2 

36 v.fh. 
5.6 

ehw;fuk; 𝐴𝐵𝐶𝐷 d; gug;G 

  =
1

2
{(𝑥1𝑦2 + 𝑥2𝑦3 + 𝑥3𝑦4 + 𝑥4𝑦1) − (𝑥2𝑦1 + 𝑥3𝑦2 + 𝑥4𝑦3 + 𝑥1𝑦4)}  

r.myFfs;    

= 79 r.myFfs; 

2 

 

 

 

3 
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37 gapw;rp. 
6.3 – 5 

      

nrq;Nfhzk; ∆ 𝐴𝐷𝐶-y;>         tan 30° =
1

√3
  

             𝑥 = √3ℎ  

 nrq;Nfhzk;  ∆  𝐵𝐷𝐶-y;>        tan 60° = √3   

 𝑦 =
ℎ

√3
 

       𝑥 + 𝑦 = 𝐴𝐵 =
4ℎ

√3
  kP 

 

1 

1 

1 
 

1 

 

1 

38 v.fh. 
7.24 

    𝑑 = 12 nr.kP> 𝑟 = 6 nr.kP> 

cUisapd; cauk; = 19 nr.kP> 

 

nkhj;jg;Gwg;gug;G = cUisapd; tisg;gug;G 

                 +  miuf;Nfhsj;jpd; tisg;gug;G 

                 +  cUisapd; mbg;gug;G 

            = 2𝜋𝑟ℎ + 2𝜋𝑟2 + 𝜋𝑟2 

           = 1056 r.nr.kP  

1 

 

 

2 

 

 

 

2 

 

39 gapw;rp. 
7.2 – 

10 

𝑅 = 20, 𝑟 = 8, ℎ = 16         

 ,ilf;fz;lj;jpd; fdmsT= 
1

3
𝜋ℎ(𝑅2 + 𝑟2 + 𝑅𝑟)  

                                          =10459.4   nr.kP3                   

,ilf;fz;lj;jpd; fdmsT = 10.4594 ypl;lu; 

epug;gg;gLk; ghypd; nkhj;j tpiy 

                    = 10.4594 × 40  ≅ C 418.38 

1 

1 

1 

1 
 

 

1 

40 Creative 

8th 

chapter 

          𝑥̅ =
∑ 𝑥

𝑛
  

   𝑥̅ =
18+20+15+12+25

5
=

90

5
= 18 

 
𝑥 𝑑 = 𝑥 − 𝑥̅ 𝑑2 

18 0 0 
20 2 4 
15 −3 9 
12 −6 36 
25 7 49 

  ∑ 𝑑2 = 98  

             𝜎 = √
∑ 𝑑2

𝑛
= √

98

5
= √19.6      = 4.427 

             C.V =
𝜎

𝑥̅
× 100% 

                    =
4.427

18
× 100 

                   =
442.7

18
= 24.59 

 
 

1 

 

 

 

 

 

1 

 

 

1 

 

1 

 

 

1 
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41 gapw;rp. 
8.4 – 9    

 rPuhd %d;W ehzaq;fs; xU Kiw Rz;lg;gLfpd;wd. 
 𝑆 = {𝐻𝐻𝐻, 𝐻𝐻𝑇, 𝐻𝑇𝐻, 𝐻𝑇𝑇, 𝑇𝐻𝐻, 𝑇𝐻𝑇, 𝑇𝑇𝐻, 𝑇𝑇𝑇} 

 𝑛(𝑆) = 8  
 

   i) 𝐴  vd;gJ mjpfgl;rk; 2 G+f;fs; fpilg;gjw;fhd epfo;r;rp vd;f 
 𝐴 = {𝐻𝐻𝐻, 𝐻𝐻𝑇, 𝐻𝑇𝐻, 𝑇𝐻𝐻, 𝑇𝑇𝐻, 𝐻𝑇𝑇, 𝑇𝐻𝑇} 

    𝑛(𝐴) = 7       

 ∴ 𝑃(𝐴) =
𝑛(𝐴)

𝑛(𝑆)
=

7

8
 

   ii) 𝐵 vd;gJ Fiwe;jgl;rk; 2 jiyfs; fpilg;gjw;fhd epfo;r;rp vd;f 

 𝐵 = {𝐻𝐻𝑇, 𝐻𝑇𝐻, 𝑇𝐻𝐻, 𝐻𝐻𝐻} 

  𝑛(𝐵) = 4 

 𝑃(𝐵) =
𝑛(𝐵)

𝑛(𝑆)
=

4

8
 

 𝐴 ∩ 𝐵 = {𝐻𝐻𝐻, 𝐻𝐻𝑇, 𝐻𝑇𝐻, 𝑇𝐻𝐻} 

 𝑛(𝐴 ∩ 𝐵) = 4 

 𝑃(𝐴 ∩ 𝐵) =
𝑛(𝐴∩𝐵)

𝑛(𝑆)
=

4

8
 

 𝑃(𝐴 ∪ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∩ 𝐵) 

       =
7

8
+

4

8
−

4

8
 

 𝑃(𝐴 ∪ 𝐵) =
𝟕

𝟖
 

 

 

1 

 

 

 

1 

 

 
 

1 

 

 

 

1 

 

 

1 

42 Creative 

1st 

chapter 

𝐴 = {𝑥 ∈ 𝑊|0 < 𝑥 < 5}  = {1, 2, 3, 4},       

  𝐵 = {𝑥 ∈ 𝑊|0 ≤ 𝑥 ≤ 2} = {0, 1, 2},     

 𝐶 = {𝑥 ∈ 𝑊|𝑥 < 3} = {0, 1, 2} 

 𝐵 ∩ 𝐶 = {0, 1, 2} ∩ {0, 1, 2} = {0, 1, 2} 

  𝐴 × (𝐵 ∩ 𝐶) = {1, 2, 3, 4} × {0, 1, 2} 

   = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)}… (1)  

 𝐴 × 𝐵 = {1, 2, 3, 4} × {0, 1, 2} 

           = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

 𝐴 × 𝐶 = {1, 2, 3, 4} × {0, 1, 2} 

           = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

 (𝐴 × 𝐵) ∩ (𝐴 × 𝐶) 

= {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

        ∩ {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} 

 = {(1, 0), (1,1), (1,2), (2,0), (2,1), (2,2), (3,0), (3,1), (3,2), (4,0), (4,1), (4,2)} …(2) 

   (1) kw;Wk; (2)ypUe;J,   𝐴 × (𝐵 ∩ 𝐶) = (𝐴 × 𝐵) ∩ (𝐴 × 𝐶)  

 

 
 

 

 

 

 

1 

 

1 

 

 
 

1 

 

 

 

1 

 

 

 
 

1 
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gFjp – IV 
midj;J tpdhf;fSf;Fk; tpilaspf;fTk;.                                                                           2 x 8 = 16   

43 
m 
 

 gapw;rp 4.2-12 
 
   cjtpg;glk; 

 

 
 
 
 
 
 
 
   cz;ikg;glk; 
 

 
 
 

2 
 
 
 
 
 
 

6 

43 
M 
 

gapw;rp 4.4 - 13 
 
   cjtpg;glk; 
 
 
 
 
 
   cz;ikg;glk; 
 
 
 
 
 
 
 
 
 
 
   
 

rupghu;j;jy;:   𝑃𝐴 = √𝑂𝑃2 − 𝑂𝐴2  = √102 − 52      ⋍ 8.7 nr.kP 

 
 

2 
 
 
 
 
 

5 
 
 
 
 
 
 
 
 
 
 
 
 

1 
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44  
m 

vLj;Jf;fhl;L 3.52 
 
𝑦 = 2𝑥2  

𝑥 −2 −1 0 1 2 
𝑦 8 2 0 2 8 

 
    𝑦 = 2𝑥2 
    0 = 2𝑥2 − 𝑥 − 6   (−) 
    𝑦 = 𝑥 + 6 
  
 𝑦 = 𝑥 + 6 

𝑥 −2 −1 0 1 2 
𝑦 4 5 6 7 8 

 
 
 
ntl;Lk; Gs;spfs;; 
(−1.5,4.5) kw;Wk; (2,8) 
 
 
 
 
tiuglk; 
 

 
 

2 
 
 

msTj; 
jpl;lk;-2 

 
 
 
 

1 
 
 
 

1 
 
 
 
 

2 

44  
M 

vLj;Jf;fhl;L 3.51-(ii)  
𝑦 = 𝑥2 − 8𝑥 + 16 

𝑥 −1 0 1 2 3 4 5 6 7 8 

𝑦 25 16 9 4 1 0 1 4 9 16 
 
 
 
 
 
 
tiuglk; 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

jPu;tpd; jd;ik: nka; kw;Wk; rkkhd jPu;Tfs; 

 
2 
 
 

msTj; 
jpl;lk;-2 

 
 

3 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 
 


